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Attempt any five question in all, selecting one question from each unit.
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No supplementary answer book will be given to any candidate. Hence the candidate should wri

answer precisely in the main answer book only.
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All the parts of one question should be answered at one place in the answer book. One complete question
should not be answered at different places in the answer book. H
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Questions have been set English and their translation in Hindi has been appended for the convenience
of the candidates. . .
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Write your roll number on question paper before jtart writing answer of questio
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UNIT.1/ 38751
1. Deﬁ_ne 'BUdget' and IBUdg&ting'. DBSCI’ibQ itg utﬂit}' and limitations.
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budget the basis of flexibility. Throw light on the objects and
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Explain the classification ©
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What i meant by business forecasting? Exp}@in briefly the various methods of forecasting?
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Calculate the trend values by the method of least squares from the data given below and estimate

the sales for the year 2023. (20)
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| Year 2014 2015 2016 2017 2018

| Sales (in '000) 12 18 20 23 27
UNIT-III / 3&mE-111

What is cash budget? What is the difference beiween Cash budget and Finance budget? Describe

its objectives. (4+8+8)
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OR / 9=t

Find out the following material various : (4+4+4+4+4=20)

(1) Material Cost Variance
(11) Material price Variance
(m1) Material Usage Variance
{iv) Material Mix Variance

(v) Material Yield Variance
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Material Qty. _“—‘;—ﬁ‘c-;-.. . \mount Qty. Price | Amoun
] KR | (Rey | (Rs.) | (Kg.) (Rs.) (Rs.)
X 120 | poo  600.00 112 5.00| 560.00
Y |r 80 109, 50000 88 10.00| 880.00
200 1100.00] 200 1440.00
ose £ 30 | s 50 (25%)
(Qutput | 140 ) l 150 |
UNIT-IV / $&T$-IV
3 Explain the nature and significance of ‘Key Factor'. How does it influence product mix decisions?
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OR / 39aT
W rite short notes on the following : (10410)

1! Determination of profitable level of production

(i) Starting a new product in place of existing product
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UNIT-V/3&%-V
5. What is economic feasibility of a project? Describe the main aspects of such feasibility.  (6+14!
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The following is the capital structure of K. Ltd. : (20
Tﬁ. fofres =\ o s v £ - 4
.lr So of d Cost of Cﬂpitﬂl
| “‘_ ce of Funds Amgunt (Rs.) | (aAfrer Tax)
Equity share capital 10,00,000 1%
(1,00,000 shares of Rs. 10 each)
Preference share capital 2 50,000 8%
(25,000 shares of Rs. 10 each) -
Retained earnings - 00,000 1%
i R 4.5%
9% Debentures I 7,50,000
P.T.(
K-0240/1224-IV



_ at 9 )
Presently, the debentures are being traded 2 94%, preference shares at for and equity shares a;

Rs. 13.50 per share.

Calculate the weightage average cost of capital baged on market valye weights.
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